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All Questioru; are compulsory and each question is of I mark.

Ehi ryqr-lr,C.ararai-i 6? ffi t dnE? ,?tTw dt qa ! 1

only English version is valid in case of dffirence in both the ranguages.

t. v&Tur sT E@Tfrtrfrt
(a) {quf qm t ifiiP{ro qFT +1 st{

v{eTq *,,r{r
(b) effuo' qn t *rq1 qrr st et{
(c) +ffi {qpt qFr

(d) i;-+a.rrifrroqrrr

Q**sor *rffilwroeerint
(a) \rst'{qzfwT
O) arqtrg
(c) rfrqcrfr
(d) rli{rikfutr

Enrq oilt{T{ *'unur crfr ,rt dqr$ +t
&r
(o) {tdq 1|.
(b) qrr+rft ZE
(c) s$ritfu lErnn+'r+qf,+rfr Zfu
(d) sim 1fe

l. Main principle of survey is
(a) To work from whole to the part
(b) From part to whole
(c) Only whole
(d) Only part

Working edge of alidade is known as

(a) Ebonite edge

(b) Fiducial edge

(c) Straight edge

(d) Graduated edge

The error due to bad ranging is
(a) Cumulative error
(b) Compensating error
(c) Sometimes cumulative sometimes

compensating

(d) Insignificant error

2.

.gx

3. 3.

(1)
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4. rfl{q 1ir+r +r fi{ kdid srtqtkd t
(a) srqTdq

O) vtlqih
(c) dmr sTrdtq
(d) drtr qilrdq

5. -Trtrq qr++.$ sryqrc :o *rt d-e qfi-q

ii gafrdf 61{qr t
(a) 7s
(c) 1s0

(b)
(d)

100
300

6. T* 6t t-tr6 rR q< fl<-*m qrd k€.,it
si firf,ri ilFfr qmFrdFtqr t
(a) EeoiFrmtw
(b) {qclffiW,.
(c) YIqffitGT
(d) gs+iqfffiHtqr

IFETRT ur drw r+ dat t
(a) E+IIilEFt
(c) ettqt

O) *ceqr
(d) WFrqc*I

gs+t* qf .r{ gq+tc {* +i qnq qfr

C{+t Etdrt
(a) 0" (b) 45"
(c) 120" (d) 90"

ffi sTmlrr q+mffi{ ffi +t slss{
{rfr + lr<t ei i+{ +{sffi{ t crq
fuqr qrdr t
(a) sirql
(b) frrn er+ao
(c) srfrdtrd
(d) nrkrFilEkM

H-f,xiur +1 qgre-EdR frFr {"t fr.iTur
Bq?rq m.,t-drfi t
(a) q{-q|-q*isT Ir{
(b) erqwsil+Trn
(c) ct4F{€il.s;T q{
(d) nq*a .rcdo-r qr

7.

8.

9.

10.

(2) 2015

The working principle of oPtical

square is based on

(a) Refraction

(b) Reflection
(c) Double refraction

(d) Double reflection

Total no. of links in 30 m long chain

as per Indian standards are

4.

5.

(a) 7s

(c) 1s0

(b) 1oo

(d) 3oo

7.

The imaginary line joining points of
zero declination on earth surface is

(a) Isogonic line

O) Isoclinic line
(c) Agonic line
(d) Magnetic declination line

The compass box is made of

9.

(a) Steel

(c) Iron
O) Brass

(d) Aluminium

At magnetic poles, the diP of
magnetic needle is

(a) 0o O) 45"

(c) 120" (d) 90o

The interral focussing telescope is
focussed by operating the lens which
is fixed inside the telescope

(a) Convex
(b) Double concave

(c) Plano convex

(d) Plano concave

The rise and fall method of levelling
provides a complete check on

(a) Backsight
(b) Foresight
(c) Intermediate sight

(d) All the sights

10.
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1 1. furtcr+ qfi unacnt.il-et
(a) {IrkRI
(b) qttfq

(c) {mtsR
(d) ffi

12. sir#rflEe+Bqqrrr i
(a) Efr{ur iqr{6ri +H
O) cr-tr{q<rrtrkr*,,r++m
(c) qi tqrcif + +q *iur m 6d '#

H
(d) Bqttfr {qR srqi +H

ftri*'drc 16r srr.rr l=rE{ ii t ffi
sr1ur qfuflfuil foqr w rrmr t r
(a) ftd+c+d{Iilo,fr Tfr iilqRT
(b) ut;litrrtc+ sivrtk qF*rErRT
(c) grfrqg6ttffi
(d) rr+{6tt$+61{+

<f{qr qH rR utaftrr qrcro ii EF+{ 6i
180" wgus{ +t utrqr t
(a) FFqErr
(b) 6r+++iqff{r
(c) qww*+n
(d) ffir.a+m
qk Wreii +t tqr o 4d qq qmc +
Erd +tuii * qtsfi qn drn
(a) (n+2) x90 O) (2n-4)x90
(c) (2n + 4) x 90 (d) (4n - 2) x 90

qror-trcr ur {Ecr ffi ergn t+'<r
qnrtr
(a) qifucFRq
(b) fr+ii{smftqq
(c) lfu+{gmfuc
(d) en+o frqq

13.

14.

15.

16.

(3) 2015

1 l. The surface of still water is
considered to be

(a) Level (b) Horizontal
(c) Curve (d) Smooth

The use of theodolite is
(a) Prolonging survey lines

O) Finding difference in elevation

(c) Finding angles between two
lines

(d) For all the above mentioned
works

The six of a theodolite is defined
according to the

(a) Diameter of the graduated circle
of lower plate

(b) Diameter of graduated circle of
the vertical plate

(c) L"ngth of telescope tube
(d) Viewing distance of telescope

Procedure of revolving the telescope

through 180" in vertical plane on
trunion axis is

(a) Transiting

O) Swinging of telescope

(") Back sighting
(d) Inverting the telescope

If n be the no. of the sideg then the
sum of exterior of closed traverse
should be

(a) (n+2)x90 (b) (2n-4)x90
(c) (2n+ 4) x90 (d) (4n-2) x90

16. Balancing of Traverse is done
according to
(a) Transit Rule

(b) Prismoidal Rule

G) Trapezoidal Rule
(d) Rectangular Rule

12.

13.

14.

15.

P.T.O.



cc202

17. Hft{ { ffikr i{{ + 3gd'r ii
qtqTffi{uri6,e-{dr t
(a) I00 (b)

(c) e0 (d)

qtqffi+.fls{i*.qfliqr qdrt
(a) f-d C) f+d

f(c) i (d) f'd

ryn fur<iocvri<r qmr t
f -. i(a)i O) r

(c) ixf (d) f-i

ffi ;r{i rR {Frr?r urqftrc ffi erd
Mio.6nfrt
(a) BIEI

O) {*q
(c) ffiIFT

(d) *+e arrt

q<r*t *r sTRrdF qH Tqi Erd sd@
rqfrro +-{i t
(a) qdrs

O) qr&'fi
(c) dd
(d) sla

qf( ffi qtd + {q]q s{ tr6
Eai.*wr<rmqd qEr Et n

(a) +ra
O) dd ara qrdr

(c) tstT 6l?t

(d) TrrtFT GlFt

src{dT e g?* +t +*ar ffi r{gm Yi?t-{ t
(a) 0.057 d2 m

(b) 0.07857 d2 m

(c) 0.006735 d2 m

(d) 0.06735 d2 m

0

200

18.

t9.

20.

21.

22.

23.

(4) 2015

With the use of an anallatic lens in
tacheometer the additive constant

becomes ?

(a) 100 (b)

(c) e0 (d)

Additive constant is disPlaYed as

(a) f-d (b) f+d
f(c) ; (d) f'd

The multiplying constant is denoted

by

Lines of equal vertical elevation on a

map are known as

(a) Gradient O) Contour

(c) Slope (d) Level line

Contour lines showing higher value

towards inside disPlaYs

(a) Hill (b) Flat

(c) Lake (d) ValleY

If contours in an area are parallel and

at equal distance then the area would
be

(a) Flat
(b) Steep sloped

(c) Gentle slope

(d) Uniform slope

Combined correction due 'to
refraction and curvation of earth is

(a) 0.057 d2 m

(b) 0.07857 d2 m

(c) 0.006735 d2 m

(d) 0.06735 d2 m

17.

18.

19.

20.

21.

0

200

io)?
(d) f-i

f(a) i
(c) ixf

23.
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24. +{
ETTdt

(a)

(b)
(c)
(d)

30. N25"wqEqtqr
k6qrriirqfut r

(a) 295"
(c) 335"

t fuqr

+{ 2ilm Efi left ii rqrFm d+ +1
q{€Tr q flsfr frqk+.r+nin
(a) &htr
(b) al-.5, rgr T{
(c) ftokgqrftr,{r}
(d) t*yeatqidi

€fwr EFImFT ii elfuq ii d'nn qri qrd

IFRT En'{R+i ttqr t
(a)t O)2
(c) 3 (d) 4

frfd€ {rrrerT eru srrildfr { Bk{
{rrr€rT +T{rdd
(a) sq qtrit etror t r

(b) srftr+,rycH'rfft r

(c) qr{rsfrt r

(d) sqrit t6tt$rfi
d-{ts€ql eils,rt
(a) 750 mm x 900 mm

O) 600 mm x 750 mm
(c) 450 mm x 600 mm
(d) 300 mm x 450 mm

zr&TTznFTosqqma
(a) qtfuq siur 656 tFFtT

(b) $afu{o}oT trrd *.crr
(c) am $ 556 iFFIt

(d) (a), (b), (") {Irft

t{ffi{ oi Wt e-{

tce *r {rfi affiq
tr
cFrsm
ugo +fer

t**s
sTrtq{ iG

25.

26.

27.

28.

29.

(b)
(d)

S25"E
295"

(s) 2015

Centering of plane table is done bY

(a) Spirit level
(b) Plumbing fork
(c) Alidade
(d) Ranging pod

When a plane table is set in correct
position then resistor will form
(a) Triangle of error

(b) A greatercircle
(c) Meet at a point
(d) Triangle and circle both

The no. of horizontal cross wires in a
stadia diaphragm is

(a) I (b) 2

(c) 3 (d) 4

The resection by two point problem
as compared to three point problem

(a) Takes less time
(b) Required more labour

(c) More correct

(d) None of the above

Size of plane table is

(a) 750 mm x 900 mm

(b) 600 mm x 750 mm

(c) 450 mm x 600 mm

(d) 300 mm x 450 mm

The use of total station is

(a) Determine horizontal angle

O) Determine vertical angle

(c) Determine sloping distance

(d) (a), O), (c) all

Change N 25o W quadrantal bearing
into whole circle bearing.

(a) 295"

(c) 335"

(b) s 25" E

(d) 29so

24.

25.

26.

27.

28.

29.

30.
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fqflq6,aq Ei?5': 70

[Maximum Marks:70

dr , O eqqwq atffi d; YIY CCCE€f qfu#rarqffiad I

Note : Question No. I is compulsory, answer any five questiors from the remaining.

(ii) cd6vw # 8rr? ,lt it qt iwtdtt{ g+- +rr rer o?fuq r

Solve all parts of a question consecutively together.

(iii) sd6vw m)#YuaCrner dfqq t

Start each question on afresh page.

(iv) qI# 
'rqr,"l C erf,{afi 67 ffi it anET 'rFKd? ct4 * t

Only English version is valid in case of difference in both the languages.

1. FTqst{qtqEtrrrflEi:

Explain the following in brief :

(i) rqftfiRrr ii {duur 6t 3lrdFmr

Use of surveying in engineering.

(ii) r+eR Ftdr

Invar tape

(iii) tica-qil q qdil Eifi'c

Closed ffaverse and oPen traverse

(iv) rrfirrfrq qiq

Arithmetical checks

(v) qeav&rur{@
Errors in plane tabling

(o

(2xs)

P.T.O.

2016

FIELD SURVBY

@



t
cc202 0 2015

- 2. ftrffiorgsrr<r qtftrq siur cTq+ +t 
",-qk 

frfu s Tflq*sr frfrr *r qEtI frlfqq I

Explain repetition method & reiteration method for measuring horizontal angle by

Theodolite. (6+6)

3. (i) (o.dqqfic KLMN tq fiTqiuurfae'rq,
Following obselvations we,re taken for a KLMN closed traverse :

tm pine) erqrf (ength) f<q.m" (Bearing)

KL 150 m 3400'

LM 513 m 14"0'

MN 315 m 137"0'

NK x x
or.rrq xn +1&q r tq lu< +t Hrqrt s kdFcn

fr am sifqq r

Calculate latitute and departure for every line of traverse. Calculate length and

bearing of lineNK.
(ii) Hdefi ti ry Eli sdr 3c-6{uit + nt it ftnfisq t

Write about equipments used for tacheometry'

4. t{q'd eimqartt,
Write difference between following :

(i) ftdf.+^fflnq-s-*.q siwfrwnq{+
Prismatic compass and Surveyor compass'

(ii) fr tqr iln ffi flsfu e sdrc-qord frfrr

Height of insffument method and fuse-fall method'

(6+6)

(6+6)

(E+4)

P.T.O.

5. (i) (16 tdfl-fi Bt {hH e q{ e1f{d 6rh t;tqiw rM rR f{H ie{ur tdrq 'lq '
By setting a tacheometer at A foflowingreadings were taken on a vertical staff :

evIT
(Station)

ras*{r;T
(StaffStation)

$Eiqrdq
(Vertical Angle)

rrfiqrdqi.[^

(Staff reading)

A BM -2" 15' 3.225,3.550, 3.875

B +8" 30' 1.650,2.515,3.380

qltrq Efr e B EFt qqr+d trfl Erd

EbtHq r ilm fuF ffi {qr+d ftI : 430.65s frat t r

calculate distance between A & B and RL of B if instrument constants are 100

and 0.4. BM of R.L. :430.655 m'

qq crc t qr e{F{rH t z

What is the meaning of omitted measure'rnents ?

(ii)
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6. (i) qqlq iqr<{sr q-rt{d q,,d qr-d +rr+ fufuq t

Write factors affecting contour interval.

(ii) wv{e{ur tarrr q EIfrfli lafleq t

Write adl'antages & disadvantages of plane table surveying. (6+6)

7. (i) Hfir<q6r++{+iltiiflefuq r

Write about different types of chain.

(ii) efrzi +df, +t qUuqr* qrsr{t r

Explain working of Auto level.

8. frq qq {fuH Eqfrnt fufisg ,

Write short notes on the following :

(i) ztrde{H
Total station

(ii) Wt f" fuqqn wfr
Whole circle bearing system

(iii) vg-tcur ilaqtul

Differential levelling

(6+6)

(4x3)


